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kf7\oqmdsf] ?k/]vfnfO{ lgDg cg';f/ ljefhg ul/Psf] 5 M 

 

efu ! 

lnlvt k/LIff(Written Examination) M—k|yd r/0f    k"0ff{Í M— !)) 

       låtLo r/0f    k"0ff{Í M—@)) 

efu @ 

clGtd r/0f M                                ;Lk k/LIf0f, cGtjf{tf{ / z}lIfs of]Uotf k"0ff{Í M &%

 

k/LIff of]hgf (Examination Scheme) 

 

!= lnlvt k/LIff M– k|yd r/0f (First Phase) 

  kq                     ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

k|yd 

k|zf;lgs cle?lr 

k/LIf0f* 

(Administrative 

Aptitude Test) 

100 40 

j:t'ut(Objective): 

ax'j}slNks k|Zg 

(Multiple Choice 

Questions) 

!))k|Zg x !cÍ 
!306f 

#)ldg]6 

 

@= lnlvt k/LIff M– låtLo r/0f (Second Phase) 

  kq                     ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

låtLo 
zf;g k|0ffnL 

/ ;d;fdlos ljifo 
100 40 

ljifout 

(Subjective) 

 

!)k|Zg x !)cÍ # 306f 

t[tLo ;]jf ;d"x ;DaGwL 100 40 ljifout 

(Subjective) 
!)k|Zg x !)cÍ # 306f 

 

 

 

clGtd r/0fM – ;Lk k/LIf0f / cGtjf{tf{ (Skill Test & Interview) 

ljifo k"0ff{Í k/LIff k|0ffnL ;do 

;"rgf k|ljlw ;Lk k/LIf0f  

(Information Technology Skill Test) 
10 k|of]ufTds (Practical)# @) ldg]6 

  @%

JolQmut cGtjf{tf{(Individual Interview) 40 df}lvs (Oral)  

 

*k|zf;lgs cle?lr k/LIf0f (Administrative Aptitude Test) 

kq÷ljifo efu ljifoj:t' cÍ k"0ff{Í ptL0ff{Í k|Zg;+Vof x cÍ 

k|yd÷ 

k|zf;lgs 

cle?lr k/LIf0f 

(AAT) 

(A) General Awareness 50 

100 40 

%) k|Zgx !cÍ 

(B) Aptitude Test 30 #) k|Zgx !cÍ 

(C) 
English Language 
Competence Test 

20 
@) k|Zg x!cÍ 

 

z}lIfs of]Uotf



                               e/tk'/ vfg]kfgL Joj:yfkg jf]8{, e/tk'/, lrtjg
ck|fljlws tkm{ 5}7f}+ txsf n]vf clws[t -k|zf;g ;]jf, n]vf ;d"x_ kbx?sf]  k|ltof]lutfTds k/LIffsf] nflu kf7\oqmd  

Page 2 

#k|of]ufTds k/LIff of]hgf(Practical Examination Scheme) 

ljifo  k"0ff{Í ljifoj:t' lz{ifs cÍ ;do 

;"rgf k|ljlw;Lk 

k/LIf0f(IT Skill Test) 
!) 

Devanagari Typing @=% cÍ % ldg]6 

English Typing @=% cÍ % ldg]6 

Word processing @ cÍ 

!) ldg]6 

Electronic Spreadsheet ! cÍ 

Presentation System ! cÍ 

Windows basic,  Email and Internet ! cÍ 

hDdf !) cÍ @) ldg]6 

 

b|i6Jo M 

!= of] kf7\oqmd of]hgfnfO{ lnlvt k/LIff -k|yd r/0f / låtLo r/0f_ tyf clGtd r/0f -;Lk k/LIf0f, 

;fd"lxs k/LIf0f / cGtjf{tf{_ u/L b'O{ efudf ljefhg ul/Psf] 5 .  

@= k|Zgkq g]kfnL efiffdf x'g]5 . t/ k|yd kqsf] Aptitude Test / English Language Competence 
Test sf] k|Zgkq c+u|]hL efiffdf x'g]5 . 

#= lnlvt k/LIffsf] dfWod efiff g]kfnL jf c+u|]hL cyjf g]kfnL / c+u|]hL b'j} x'g]5 . 

$= j:t'ut ax'j}slNks (Multiple Choice) k|Zgx?sf] unt pQ/ lbPdf k|To]s unt pQ/ afkt @) k|ltzt 

cÍ s§f ul/g]5 . t/ pQ/ glbPdf To; afkt cÍ lbOg] 5}g / cÍ s§f klg ul/g] 5}g . 

%= k/LIffdf s'g} k|sf/sf] SofNs'n]6/ (Calculator) k|of]u ug{ kfOg] 5}g . 

^= ljifout k|Zgsf nflu tf]lsPsf cÍsf xsdf Pp6f nfdf] k|Zg jf Pp6} k|Zgsf b'O{ jf b'O{ eGbf a9L efu 

-Two or more parts of a single question_ jf Pp6f k|Zg cGtu{t b'O{ jf a9L l6Kk0fLx? -Short notes_ 

;f]Wg ;lsg] 5 .  

&= k/LIffdf ;f]lwg] k|Zg ;+Vof,cÍ / cÍef/ oyf;Dej ;DalGwt kq÷ljifodf lbO{P cg';f/ x''g]5 . 

*= cfof]uaf6 ;+rfng x'g] k/LIffdf k/LIffyL{n] df]afOn jf o:t} k|sf/sf ljB'tLo pks/0f k/LIff xndf 

n}hfg kfOg] 5}g . 

(= ljifout k|Zg x'g] kqsf xsdf k|To]s v08sf nflu 5'§f5'§} pQ/k'l:tsfx? x'g]5g\ . k/LIffyL{n] k|To]s 

v08sf k|Zgx?sf] pQ/ ;f]xL v08sf] pQ/k'l:tsfdf n]Vg'kg]{5 . 

!)= o; kf7\oqmd of]hgf cGtu{tsf kq÷ljifosf ljifoj:t''df h];'s} n]lvPsf] eP tfklg kf7\oqmddf k/]sf 

sfg"g, P]g, lgod tyf gLltx? k/LIffsf] ldlt eGbf # dlxgf cufl8 -;+zf]wg ePsf jf ;+zf]wg eO{ 

x6fO{Psf jf yk u/L ;+zf]wg eO{_ sfod /x]sfnfO{ o; kf7\qmddf k/]sf] ;Demg''' kb{5 . 

!!= k|yd r/0f (First Phase) sf] lnlvt k/LIffaf6 5gf}6 ePsf pDd]bjf/x?nfO{ dfq låtLo r/0f 

(Second Phase) sf] lnlvt k/LIffdf ;lDdlnt u/fOg]5 . 

!@= lnlvt k/LIffsf] k|yd r/0f (First Phase)df k|fKt u/]sf] k|fKtfÍsf] zt\ k|ltzt cÍ tyf låtLo r/0f 

(Second Phase)sf] k|fKtfÍx? hf]l8 s"n cÍsf] cfwf/df lnlvt k/LIffsf] glthf k|sflzt ul/g]5 . 

!#= lnlvt k/LIffdf 5gf}6 ePsf pDd]bjf/x?nfO{ dfq clGtd r/0fsf] ;Lk k/LIf0f, ;fd"lxs k/LIf0f / 

cGtjf{tf{df ;lDdlnt u/fOg]5 . 

!$= lnlvt k/LIff / clGtd clGtd r/0fsf] ;Lk k/LIf0f, ;fd"lxs k/LIf0f / cGtjf{tf{sf] s'n cÍ of]usf 

cfwf/df  clGtd k/LIffkmn k|sflzt ul/g]5 . 
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lnlvt k/LIff M– k|yd r/0f(First Phase) 

k|yd kqM– k|zf;lgs cle?lr k/LIf0f(Administrative Aptitude Test) 

Part (A)  

1. ;fdfGo ;r]tgf       %) k|Zg × !cÍ Ö%) cÍ 

1.1 e"uf]n – g]kfn tyf ljZjsf] ef}lts, ;fdflhs / cfly{s e"uf]n 

1.2 Oltxf;, ;+:s[lt / ;fdflhs Joj:yf   

1.2.1 ljZjsf k|d'v P]ltxfl;s 36gfx? 

1.2.2 g]kfnsf] k|frLgsfn tyf dWosfnsf] /fhgLlts, cfly{sPj+ ;fdflhs ;f+:s[lts cj:yf  / 

cfw'lgsg]kfnsf] Oltxf; 

1.2.3 g]kfndf nf]stGqsf] nflu ePsf hgcfGbf]ngx? 

1.2.4 g]kfnsf k|rlnt wd{, ;+:s[lt, hfthflt, efiff, ;flxTo / snf 

1.3 zf;gk4lt / zf;g – ;+ljwfg, /fhg}lts Joj:yf, clwsf/df cfwfl/t ;jfn÷ljifox? / g]kfnsf] 

k|zf;lgs Joj:yfsf] ljsf;qmd 

1.4 cfly{s ljsf; 

1.4.1 g]kfndf ljsf;sf k"jf{wf/x? -s[lif, pBf]u, Jofkf/, ko{6g, oftfoft, ;+rf/, lzIff, :jf:Yo,  / 

ljB't_  

1.4.2 g]kfnsf] cy{tGq;Fu ;Dj4 of]hgf, ;|f]t÷;fwgx?sf] kl/rfng, j[l4, ljsf; tyf /f]huf/ 

;DaGwL ;jfn÷ljifox?   

1.4.3 g]kfnsf] ljZj;Fusf] cfly{s ultljlwx? 

1.5 lbuf] ljsf;, jftfj/0fLo kfl/l:ylt, kof{j/0fLo ;+/If0f, h}ljs ljljwtf, hnjfo' kl/jt{g, 

hg;+flVosL, Zfx/Ls/0f, a;f]jf;, k|b"if0f, k|fs[lts ;|f]t tyf /fli6«o ;Dkbfx?sf] ;+/If0f ;DaGwL 

;fdfGo ;jfnx?  

1.6 lj1fg / k|ljlw  

1.6.1 k|d'v j}1flgs cGj]if0f / cfljisf/x?, k|l;4 j}1flgs / ltgsf] of]ubfg 

1.6.2 lj1fg / k|ljlwsf] dfgj hLjg / ;dfhdf k/]sf] k|efj 

1.6.3 qmdljsfz(evolution), j+zf0f', :jf:Yo / /f]u af/] ;fdfGo hfgsf/L 

1.7 cGt/f{li6«o dfldnf tyf cGt/f{li6«o ;+3÷;+:yf  

1.7.1  ;fs{ ;b:o /fi6«x? tyf rLg, ;+o'Qm /fHo cd]l/sf, ;+o'Qm clw/fHo, ?;, k|mfG;, hd{gL, 

:jLh/Nof8 / hfkfg ;Fu g]kfnsf] ;DaGw 

1.7.2  ;+o'Qm /fi6«;+3 k|0ffnL, ax'kIfLo Joj:yfkg / g]kfn 

1.8 /fli6«o / cGt{/fli6«o dxTjsf ;d;fdlos 36gf tyf gjLgtd ultljlwx?M /fhgLlts, 

;fdflhs,;f+:s[lts,cfly{s, j}1flgs, v]ns"b, k':ts, k'/:sf/, snf, ;flxTo / ;+uLt;+u ;DjlGwt 

dxTjk"0f{ JolQmTj tyf ljrf/sx? 

Part (B) 

2. Aptitude Test        30 × 1 = 30 Marks 

2.1 Verbal reasoning such as series, analogy, classification, coding-decoding, insert the missing 

character, common property, matrices, direction and distance sense test, ranking order, 

assertion and reason, induction, deduction, courses of action, etc   6 × 1 = 6 Marks 

2.2 Non-verbal reasoning such as series, analogy, classification, Venn diagrams, matrices, 

construction of squares and triangles, and figure formation and analysis, dot situation, water 

images, mirror images, embedded figures, etc.     6 × 1 = 6 Marks 

2.3 Quantitative aptitude such as arithmetical reasoning / operation, percentage, fraction, decimal, 

ratio, average, loss, profit, date/calendar, time and work, etc.   6 × 1 = 6 Marks 

2.4 General mental ability, logical reasoning and analytical ability  6 × 1 = 6 Marks 

2.5 Data interpretation - charts, graphs, tables, data sufficiency   6 × 1 = 6 Marks 
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Part (C) 

3. English Language Competence Test     20 × 1 = 20 Marks 

3.1 Comprehension:        5 × 1= 5 Marks 

Questions will be asked based on the passage given. The questions will try to accommodate 

the following areas: 

- Fact finding, Inferential, Core theme, True/false identification, Issues raised and 

Language based 

3.2 Vocabulary:          7 × 1 = 7 Marks 

Questions will be asked to assess their grasp on the English language vocabulary. The 

questions will be of the following nature: 

- Meaning of the words (literal /figurative/contextual), Single word for expressions, 

Synonyms/antonyms, Derivatives and Homonyms/homophones 

3.3 Syntactic ability:        8 × 1 = 8 Marks 

Questions will be asked to assess the syntactic ability of the candidates. The questions will be 

based on the following categories: 

- Agreement, Tense aspect, Parallel structures, Clauses, Modifier, Conditionals, 

Phrasal expressions, Shifts (tense, number, person), Transformations, Varieties, 

Prepositions/conjunctions and Parts of speech 

------ 

 

Note: - This above English Language Competence Testsyllabus is devised for assessing the 

proficiency of the English language of candidates. With the view to assess the candidates’ 

language competence, the syllabus aims:  

 to test the understanding of their language through reading comprehension, 

 to map the range of their vocabulary, 

 to examine their syntactic  ability. 

The nature and standard of questions in English Language Competence Testwill be such 

that an educated Class XII level person will be able to answer them without any specialized study. 

 

b|i6Jo M–  k|yd kq k|zf;lgs cle?lr k/LIf0fsf] ;fdfGo ;r]tgfsf] Part (A)sf kf7\oqmdsf PsfO{x?af6 

oyf;DejLevel I  sf ^) k|ltzt /Level II sf $) k|ltzt u/L lgDgfg';f/k|Zgx?;f]lwg]5 . 

Table of Specification 

 

Unit 

No. 

 

Contents Title 

No. 

of 

items 

Specification 

Remarks Level I 

(60%) 

Level II 

(40%) 

1.1 e"uf]n 6 

14 10 

Level I  sf ^) 

k|ltzt /Level II 

sf $) k|ltzt  

1.2 Oltxf;, ;+:s[lt / ;fdflhs Joj:yf   6 

1.3 zf;gk4lt / zf;g 6 

1.4 cfly{s ljsf;   6 

1.5 lbuf] ljsf;, jftfj/0fLo kfl/l:ylt,==== 6 

16 10 

Level I  sf ^) 

k|ltzt /Level II 

sf $) k|ltzt  

1.6 lj1fg / k|ljlw  6 

1.7 
cGt/f{li6«o dfldnf tyf cGt/f{li6«o 

;+3÷;+:yf  
6 

1.8 
/fli6«o / cGt{/fli6«o dxTjsf ;d;fdlos 

36gf tyf gjLgtd ultljlwx? 
8 

Total 50 30 20  
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k|yd kqM ;fdfGo ;r]tgfsf gd'gfk|Zgx? 

Part A - General Awareness 

Level I questions 

1. dWosfndf ag]sf sf7sf w]/} d"lt{x?=============sf] sfi7snf ;+u|xfnodf ;+/lIft 5g\ . 

A)kf6g  B) sf7df8f}+ C) eQmk'/ D)sLlt{k'/ 

2. s'g hnjfoljs k|b]zdf Go"gtd tfk leGgtf e]l6G5 < 

A) e"dWo k|b]z B) dg;"g k|b]z  C)_ pi0f k|b]z  D) e"dWo ;fu/Lo 

 

Level II questions 

3. tnsf sygx? 7Ls, unt s] x'g 5'6\ofpg' xf];\ < 

1. g]kfnsf] df}lns z}nL dflgg] Kofuf]8f z}nLsf dlGb/ lgdf{0fdf O{+6f / sf7sf] k|of]u x'G5 .  

2. ysfnL ;d'bfodf kfOg] l9s'/ k|yf Pp6f k/Dk/fut gfrufg ug]{ 3/ xf] .    

A) 1 / 2 b'j} 7Ls   B)1 / 2 b'j} unt  

C) 1 7Ls t/ 2 unt  D)1 unt t/ 2 7Ls 

 

4. ;d"x I / II df hf]8f ldnfpg'xf];\ / sf]8af6 ;xL pQ/ 5fGg'xf];\ .  

   ;d"x I    ;d"x II 

  a) Aristotle    1.Theory of surplus value 

 b)   Socrates    2.The politics 

  c)   Abraham Lincoln   3.Hemlock 

  d)   Karl Marx   4.Slavery System 

  sf]8(Code) 

 a b c d 

 A) 4        1          2          3 

 B) 3        4          1          2 

 C) 2        3          4          1 

 D) 1        2          3          4 

 

5. tn plNnlvt dxf;lGwx?df g]kfn kIf ePsf] 5 . 

1. afn clwsf/ ;DaGwL dxf;lGw    

2. dlxnf lj?4 x'g] ;a} k|sf/sf e]befj pGd"ng ;DaGwL dxf;lGw 

3. oftgf tyf cGo s|'/ cdfgjLo of ckdfghgs Jojxf/ jf b08 lj?4sf] dxf;lGw  

4. bf;Tj dxf;lGw 

pk/f]Qm dxf;lGw nfu" ePsf] ldltsf] cfwf/df tnsf dWo] s'g qmd ;xL 5 < 

 A)  4 – 3 – 2 – 1 B) 4 – 2 – 3 – 1 C) 2 – 3 – 4 – 1 D) 1 – 2 – 3 – 4 
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Part (B) 

Sample Questions of Aptitude Test 

Verbal reasoning 

1. Find out the alternative which will replace the question mark. 

O, T, T, F, F, S, S, E, (?) 

A) E         B) N       C) O         D) T        

2. In the following find out the alternative which will replace the question mark. 

Parts : Strap :: Wolf : ? 

A)  Fox          B)   Animal          C) Flow          D)     Wood 

3. If TABLET is coded as UACMET in a certain language, then how is CAPSULE written in that 

code? 

A)  BAORUKE    B) DAQTUME       C) BAQRUKE     D)   DAOTUME 

4. The houses of A and B face eachother on a road going north-south. A’s being on the western 

side. Acomes out of his house, turns left,travels 5 m, turns right, travels 12 m to the front of D’s 

house. B doesexactly the same and reaches thefront of C’s house. In this context,which one of the 

followingstatements is correct? 

A) C and D live on the same street. 

B) C’s house faces south. 

C) The houses of C and D are less than 30 m apart. 

D) None of the above 

Non-verbal reasoning 

5. What is the total number of triangles in the below grid? 

 
A) 22 B) 23  C) 26  D) 27 

6. Choose the figure which is different from the rest 

 

 

A          B         C         D 

7. Which of the following diagrams indicates the best relation between Examination, Questions and 

Practice? 

   

     A       B            C        D 
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Quantitative aptitude 

8. What number should come next? 

8, 6, 9, 23, 87 , ... 

A) 174  B) 226   C) 324   D) 429  

 

9. What number should replace the question mark? 

 

A) 463   B) 453   C) 435   D) 47 

 

10. A student on her first 4 tests receivedan average score of N points. If she exceeds her previous 

average scoreby 20 points on her fifth test, thenwhat is the average score for the first 5 tests? 

A) N + 20   B) N + 10  C) N + 4   D) N + 5 

General mental ability, logical reasoning and analytical ability 

11. K is heavier than N. M weighs less than N. L is heavier than M but lighter than N. Which of the 

following statements is NOT true? 

A) K weighs more than M.  B) N weighs less than K. 

C) M weighs more than K.  C) M is the lightest of all. 

Read the following passage and answer the 3 (three) items that follow:  

In a survey regarding a proposed measure to be introduced, 2878 persons took part of which 

1652 were males. 1226 persons voted against the proposal of which 796 were males. 1425 persons 

voted for the proposal. 196 females were undecided. 

12. How many females voted for the proposal? 

A) 430    B) 600    

C) 624    D) 640 

13. How many males were undecided? 

A) 31    B) 227    

C) 426    D) 581 

14. How many females were not in favour of the proposal? 

A) 430   B) 496   

C) 586    D) 1226 

15. Of the following statements, there are two statements both of which cannot be true but both can 

be false.  Which are these two statements? 

1. All machines make noise. 

2. Some machines are noisy. 

3. No machine makes noise. 

4. Some machines are not noisy. 

A)  1 and 2 B)  3 and 4 C)  1 and 3  D)  2 and 4 
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Data interpretation 

The following line graph gives the ratio of the amounts of imports to the amount of exports of the 

certain country for the period from 1995 to 2001.  

Ratio of Value of Imports to Exports Over the Years 

 
Using the above graph and answer the next 5 questions. 

16. The imports were minimum proportionate to the exports of the Country in the year?  

A) 1996  B) 1997  C)2000  D) 2001 

 

17. What was the percentage increase in imports from 1997 to 1998?  

A) 72   B) 56    C) 28    D) Data inadequate  

 

18. If the imports of the country in 1996 was Rs. 272 million, the exports from the country in 1996 

was?  

A) Rs. 370 million  B) Rs. 320 million  C) Rs. 280 million  D) Rs. 275 million  

19. In how many of the given years were the exports more than the imports?  

A) 1 year   B) 2 years   C) 3 years   D) 4 years  

20. The imports were maximum proportionate to the exports of the Country in the year?  

A) 1996  B) 1997  C)2000  D) 2001 
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Part (C): - 

Sample Questionsof English Language Competence Test 

Read the passage below and answer the questions that follow.   

 

Passage I 

Oak and Company 

Richard Mabey 

1 If tree families had family trees the oak would have one of the oldest and grandest of all. 

There are more than 500 different species, and over the last million years they have spread, in 

various shapes and forms, over most of the northern half of the earth. There are mountain oaks, 

swamp oaks, evergreen oaks, weeping oaks, and oaks on windswept cliffs that never reach 

more than two or three feet in height. One kind in Spain has such a spongy bark that it is used 

to make cork, so there are soft oaks, too. But for most of us, oak means just one kind of tree: 

the tough, rugged giant that has played such a part in history and legend, and been so 

important in the woodlands of Europe and North America.  

 

2 Perhaps we have been unfair to other trees, but the forest oaks deserve their fame. They are 

hardy, essay-going, and not all fussy about whether they grow. They can reach a great age—

even a thousand of years, though most are cut down long before this. Their squat trunks and 

twisted branches, looking like clenched wooden muscles, can stand up to the worst kinds of 

weather.  

 

3 On top of all this, timber cut from oaks is as strong and remarkable as the trees themselves. It 

is solid and hard-wearing, as good for furniture as it is for firewood. Before the days of steel 

and concrete it made the frames of houses and ships. If we had to invent a new kind of timber it 

would be hard to think up anything better.  

 

4 Yet it isn’t just humans who find oaks the most useful of trees. Over the ages a huge number 

of animals and plants have learned to live off—and in—the oaks. It is tempting to say that a 

full-grown oak is like a house, but it is really more like a city—a whole community of 

creatures travelling, working, eating, sleeping, singing, and bringing up young, on every part 

from the topmost spring buds to the dead gash blasted out by a lightening flash.  

 

Comprehension Questions:        (5×1=5) 

Choose the correct alternative. 

1. Which statement is closest to the main idea expressed in the first paragraph? 

A. that there are varieties of oaks  

B. that trees like oaks are family trees 

C. most people think that there is only one type of oak 

D. the best kind of oak is found in Spain 
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2. By giving example of a kind of oak found in Spain, the writer proves— 

A. there are soft oaks 

B. oaks can be useful 

C. cork manufacturing industry depends on oaks 

D. our thinking of oak as  a hard wood is wrong 

 

3. All the statements below are true, except— 

A. there are varieties of oaks 

B. oaks primarily grow in Northern part of the earth 

C. oaks have muscles like human beings  

D. steel is used nowadays as building material for which oaks were used in the past  

 

4. The sentence “If we had to invent a new kind of timber it would be hard to think up anything 

better” means— 

A. We cannot invent a new kind of timber 

B. It is hard to think about a new timber 

C. It is hard to find a better timber than oak 

D. It’s time that we better think of a new timber than oak  

 

5. Which statement best expresses the idea expressed in paragraph 4? 

A. Animals and birds make homes in oaks 

B. Sometimes lightening strikes oaks 

C. Plants also depend on oaks 

D. Not only humans but also animals and plants find oaks useful  

 

Vocabulary  Questions:        (7×1=7) 

6. The closest meaning of the word “giant” in paragraph 1 is--- 

A. legendary huge humanlike beings 

B. a powerful living being 

C. a being who has history and legend 

D. strong and having a great size  

 

7. The phrase “stand up to” in paragraph 2 means— 

A. Standing erect 

B. Rise to a erect position 

C. Support oneself 

D. Be equally capable in strength and power 

 

8. “Bring up” in paragraph 4 means— 

A. Raise children or babies 

B. Bring something from another place 

C. Come closer to an object 

D. Push something to a higher plane  
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9. The closest opposite meaning of the word “fussy” in paragraph 2 is— 

A. Selective 

B. Choosy 

C. Hard to please 

D. Easy-going  

 

10. Which grammar class (parts of speech) the “windswept” in paragraph1 belongs to? 

A. Noun 

B. Verb 

C. Adjective 

D. Compound word 

Syntactic Ability  Questions:         (8×1=8) 

Choose the correct alternative. 

11. Which sentence indicates that John earned some money? 

A. John nearly earned $ 100. 

B. John earned nearly $ 100. 

C. Both a and b 

D. None of the above  

12. Which sentence is best active version of the sentence “The computer disk was damaged by 

electric shock”? 

A. Someone damaged the computer disk. 

B. The computer disk has been damages by the electric shock. 

C. The electric shock damaged the computer disk. 

D. Due to electric shock, the computer disk was damaged.  
 

13. Which one is the correct English expression? 

A. John has been collecting stamps since 1996. 

B. John collected stamps since 1996. 

C. John had collected stamps since 1996. 

D. Since 1996, John was collecting stamps.  

14. Which preposition completes the sentence “I expect a lot of guest ____ Christmas.  

A. in 

B. at 

C. on 

D. for  

15. Which alternative completes the sentence “Last year, we visited  _______ St. Paul Cathedral in 

Vienna.  

A. that 

B. the 

C. a 

D. none  
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lnlvt k/LIff M– låtLo r/0f(Second Phase) 
låtLo kqM– zf;g k|0ffnL / ;d;fdlos ljifo 

Section (A) - 10 Marks × 3 Questions = 30 Marks 

1. /fHo / zf;g 

1.1 zf;gsf cfwf/e"t kIfM cjwf/0ff, ;Gbe{ / ljz]iftf 

1.2 ;"rgfsf] xs / kf/blz{tf 

1.3 /fi6«lgdf{0f / /fHo lgdf{0f 

1.4 g]kfnsf] zf;g k|0ffnL 

1.5 /fli6«o ;'/Iff Joj:yfkg M cjwf/0ff, If]q / g]kfndf /fli6«o ;'/Iffsf ljBdfg k|fjwfgx? 

1.6 zf;gsf ax'cfoflds kIf / g]kfn M cgf}krfl/s zf;g, gful/s ;dfhsf] zf;g, :yfgLo zf;g, 

;xsf/Ltfd"ns zf;g / Jofj;flos zf;g  

1.7 ;+o'St /fi6«;+3, ljZj a}+s / PlzofnL ljsf; a}+s ;DjGwL hfgsf/L 

 

2. ;+ljwfg / sfg"g  

2.1 g]kfndf ;+a}wflgs ljsf; 

2.2 g]kfnsf] ;+ljwfg 

2.2.1 ljz]iftfx?, sfo{kflnsf, Joj:yflksf / Gofokflnsf 

2.2.2 df}lns xs, lgb]{zs l;4fGt / /fHosf gLltx? 

2.2.3 ;+a}wflgs tyf sfg"g lgld{t lgsfox?sf] sfo{ Pj+ ltgsf] sfo{If]q 

2.3 dfgj clwsf/ 

2.4 gful/s r]tgf, gful/ssf st{Jo / lhDd]jf/L 

2.5 sfg"gsf >f]tx? tyf g]kfndf sfg"g lgdf{0fsf] k|lqmof  

2.6 sfg"gsf] zf;g, nf]stflGqs d"No / dfGotf, ;dfj]zLs/0f, ;dfg'kflts k|ltlglwTj tyf ;sf/fTds 

lje]b 

2.7 /fHozlQmsf] afF8kmfF8 tyf ;+3, k|b]z / :yfgLo txsf] clwsf/  

2.8 ;+3, k|b]z / :yfgLo tx aLr cGt/;DaGw 

2.9 :yfgLo sfo{kflnsf, Joj:yflksf / cfly{s sfo{k|0ffnL ;DaGwL hfgsf/L 

2.10 e|i6frf/ lgjf/0f P]g, @)%(, 
 Section (B) - 10 Marks × 2 Questions = 20 Marks 

3. ;fj{hlgs ;]jf / ;'zf;g 

3.1 ;fj{hlgs ;]jfsf] cjwf/0ff, sfo{, ljz]iftf / e"ldsf 

3.2 /fhg}lts t6:ytf / k|ltj4tf 

3.3 ;fj{hlgs sf]ifsf] ;b'kof]u, ;bfrf/ / g}ltstf 

3.4 ;fj{hlgs ;]jf j8fkq 

3.5 ljB'tLo zf;g 

3.6 pQ/bfloTj / hjfkmb]lxtf 

4. >f]t Joj:yfkg / of]hgf 

4.1 dfgj ;+zfwg Joj:yfkg M k|flKt, ljsf;, pkof]u / ;Def/ 

4.2 ljQLo Joj:yfkg / ;fdflhs pQ/bfloTj  

4.3 ljsf; of]hgf / rfn" cfjlws of]hgf  

4.4 ;xeflutfd"ns of]hgf / ljsf; 

4.5 :yfgLo ;|f]t kl/rfng 

4.6 ;fj{hlgs – lghL ;fe]mbf/L -Public– Private Partnership_ 



                               e/tk'/ vfg]kfgL Joj:yfkg jf]8{, e/tk'/, lrtjg
ck|fljlws tkm{ 5}7f}+ txsf n]vf clws[t -k|zf;g ;]jf, n]vf ;d"x_ kbx?sf]  k|ltof]lutfTds k/LIffsf] nflu kf7\oqmd  

Page 13 

Section (C) - 10 Marks × 3 Questions = 30 Marks 

5. ;fdflhs dfldnfx? 

5.1 ;fdflhs Gofo tyf ;dfgtf 

5.2 ;fdflhs Pj+ ;f+:s[lts ?kfGt/0f 

5.3 ;fdflhs ;+/If0f, ;fdflhs ;'/Iff tyf lhDd]jf/L  

5.4 ;f+:s[lts ljljwtf / ;fdflhs kl/rfng  

5.5 >f]t÷;fwgx?sf] ljt/0fdf GofoM c;dfgtf Pj+ ;LdfGtLs/0f -k|fb]lzs, hfthfltut, n}lËs, u|fdL0f 

tyf zx/L_ 

5.6 hg;+Vof -a;f]af;, a;fO;/fO, zx/Ls/0f, k|f}9fj:yf, z/0ffyL{, lj:yflkt hg;+Vof_ 

5.7 ;+ul7t ck/fwM laB'tLo ck/fw (cyber crime),a]rljvg (human trafficking), ldnf]dTff] 

(cartelling)÷Psflwsf/(monopoly),cftÍjfb, e|i6frf/ / ;DkQL z'l4s/0f (Money Laundering) 

 

6. cfly{s dfldnfx? 

6.1 cfly{s a[l4 tyf cfly{s ljsf; 

6.2 :yfgLo txsf] cfly{s ljsf;sf] ;Defjgf 

6.3 cfly{s ljsf;sf k|d'v kIfx? M s[lif, pBf]u, Jofkf/, ko{6g, j}b]lzs /f]huf/ tyf dfgj ;+zfwg 

6.4 cfly{s ljsf;df ;fj{hlgs If]q, lghL If]q / ;xsf/L If]qsf] e"ldsf  

6.5 j}b]lzs nufgL, j}b]lzs ;xfotf / cGt/f{li6«o ;xof]u 

6.6 Jofkf/, ahf/ / >d pbfl/s/0f 

6.7 cfly{s s'6gLlt 
 

Section (D) - 10 Marks × 2 Questions = 20 Marks 

 

7. ljsf;;Fu ;Da4 dfldnfx? 

7.1 ;+3Lotfsf] cjwf/0ff  

7.2 dfgj ljsf; 

7.3 k"jf{wf/ ljsf; 

7.4 lbuf] ljsf; -e"ld, hn tyf k|fs[lts >f]tx?M wfGg ;Sg] Ifdtf / ljsf; gLlt_, lbuf] ljsf;sf 

nIox? 

7.5 ljsf; k|lqmofdf /fHo / /fHo afx]ssf If]qx?sf] e"ldsf 

7.6 ljsf;df gful/ssf] ;xeflutf 

7.7 ljZjJofkLs/0f, :yfgLos/0f / ljsf; 

7.8 ljsf;sf :yfgLo cfjZostf / k|fyldstf 

7.9 cfof]hgf Joj:yfkg / kl/of]hgf a}+s 

7.10 cfof]hgfsf] k|fljlws / ljlQo hjfkmb]lxtf 

 

8. jftfj/0f;Fu ;Da4 dfldnfx? 

8.1 h}ljs ljljwtf tyf ;+/If0f 

8.2 hnjfo' kl/jt{g / sfj{g Jofkf/ 

8.3 jftfj/0fLo x|f; 

8.4 jgljgf; 

8.5 jftfj/0f / ljsf; 

8.6 phf{ ;+s6 tyf phf{ ;+/If0f 

8.7 k|b"if0f tyf kmf]x/–d}nf Joj:yfkg  



                               e/tk'/ vfg]kfgL Joj:yfkg jf]8{, e/tk'/, lrtjg
ck|fljlws tkm{ 5}7f}+ txsf n]vf clws[t -k|zf;g ;]jf, n]vf ;d"x_ kbx?sf]  k|ltof]lutfTds k/LIffsf] nflu kf7\oqmd 

Page 14 

t[tLo kqM– ;]jf ;d"x ;DaGwL ljifo 

 

v08 -Section) (A) - 10 Marks × 4 Questions = 40 Marks 
 

1. ;fj{hlgs Joj:yfkg 

1.1 ;fj{hlgs Joj:yfkgsf] kl/ro / sfo{If]q  

1.2 sd{rf/L Joj:yfkgsf ljljw kIfx?M egf{, 5gf}6, lgo'lQm, kb:yfkg, a9'jf, tna ;'ljwf, pTk|]/0ff, 

a[lt ljsf;, sfo{;Dkfbg d"No+fsg / cjsfz  

1.3 ;+u7gM cjwf/0ff, k|s[lt, k|sf/ / ;+u7gfTds ljsf;  

1.4 ;fj{hlgs Joj:yfkgdf lgb]{zg, lgoGq0f, kb;f]kfg,lg0f{o k|lqmof, g]t[Tj, ;dGjo, clwsf/ k|Tofof]hg 

/ lgIf]k0f,;'kl/j]If0f, cg'udg tyf d"Nof+sg 

1.5 g]kfnsf] ;fj{hlgs k|zf;gsf] ljsf;qmd, cfwf/e"t ;+/rgf, ljz]iftf, ;'wf/sf k|of; Pj+ r'gf}tL  

1.6 Joj:yfkg k/LIf0f  

1.7 Joj;flostf, cg'zf;g / cfrf/–;+lxtf 

1.8 gful/saf6 ;fj{hlgs sfo{x?sf] d"No+fsg M ;fj{hlgs ;'g'jfO, ;fdflhs k/LIf0f, ;fj{hlgs k/LIf0f 

/ t];|f] kIf d"Nof+sg 

1.9 ;fj{hlgs Joj:yfkgsf gjLg cjwf/0ff 

1.10 ;fj{hlgs ;]jf k|jfxdf sDKo'6/, OG6/g]6, ;fdflhs ;~hfn, ;"rgf–;~rf/ k|ljlwsf] k|of]u, cj;/ 

tyf r'gf}tL 

 

 

v08 -Section) (B) - 10 Marks × 2 Questions = 20 Marks 
 

2. ;+3Lo k|0ffnL / :yfgLo tx 

2.1 ;+3Lo k|0ffnL / g]kfndf ;+l3otf 

2.2 ;+3, k|b]z / :yfgLo txx? aLr cGt/;DaGw / ;dGjo 

2.3 ;+3, k|b]z / :yfgLo txdf ;/sf/L ;]jf ;+rfng ;DaGwL gLltut Joj:yf / If]qflwsf/ 

2.4 cfrf/–;+lxtf, cg'zf;g, ;bfrf/, g}ltstf / :yfgLo tx 

2.5 ;fdflhs ;'/Iff / u/Lla Go"gLs/0f 

2.6 ljkb Joj:yfkgdf :yfgLo txsf] e"ldsf 

  2.7 :yfgLo txdf ;]jf k|jfx ug]{ dfWodx? (Service Delivery Mechanism at Local Level) 

 

 

v08 -Section) (C) - 10 Marks × 2 Questions = 20 Marks 

3. cfly{s sfo{k|0ffnL / /fh:j k|zf;g  

3.1 cfly{s sfo{k|0ffnL 

3.2 /fh:jsf] cjwf/0ff / l;4fGt 

3.3 :yfgLo s/sf l;4fGt, s/ clwsf/ / /fhZj kl/rfng 

3.4 ;fj{hlgs cfo, ;fj{hlgs vr{ / ;fj{hlgs C0fsf] cjwf/0ff 

3.5 g]kfndf s/ k|0ffnLM jt{dfg :j?k / sfof{Gojgsf] cj:yf d"No clea[l4 s/, cfos/, cGtz'Ns, 

e+;f/ dx;"n, tyf cGo s/x? / u}/ s/ /fh:j 

3.6 cGt/;/sf/L ljQLo x:tfGt/0f,/fh:j afF8kmfF8 / C0f Joj:yfkg 

3.7 cfly{s gLlt, ljQLo gLlt / df}lb|s gLlt 

3.8 jh]6 rqmM ah]6 lgdf{0f, sfof{Gjog / d"NofÍg  
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v08 -Section) (D) - 10 Marks × 2 Questions = 20 Marks 

 

4. ;/sf/L cfly{s sf/f]jf/sf] n]vfÍg, k|ltj]bg / n]vfk/LIf0f       

4.1 ;/sf/L cfly{s sf/f]jf/ M k/Lro, ljif]ztf, sf/f]jf/ ljZn]if0f, k|f/lDes n]vfÍg, vftfdf k|ljli6 / 

k|ltj]bg ;DaGwL Joj:yf 

4.2 dWodsflng vr{ ;+/rgf 

4.3 ljQLo Joj:yfkg 

4.4 cfly{s sfo{ljlw ;~rfng ;DaGwL sfg"gL Joj:yf  

4.5 ;fj{hlgs v/Lb Joj:yfkg / o; ;DaGwL sfg"gL Joj:yf  

4.6 n]vfk/LIf0fsf] kl/ro, p2]Zo, k|sf/ / cfwf/e"t l;4fGt   

4.7 a]?h' / a]?h' km5of}{6 ;DaGwL Joj:yf  

4.8 ;+3, k|b]z / :yfgLo txsf] n]vfk/LIf0f  

4.9 ;fj{hlgs ;+:yfgsf] n]vfk/LIf0f  

4.10 dxfn]vf k/LIfs / n]vfk/LIf0f ;DaGwL ;+j}wflgs tyf sfg"gL Joj:yf  
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clGtd k/LIffM – ;Lk k/LIf0f, ;fd"lxs k/LIf0f / cGtjf{tf{ (Skill Test, Group Test & Interview) 

ljifoM–;"rgf k|ljlw ;Lk k/LIf0f(Information Technology Skill Test) 

k|of]ufTds k/LIff of]hgf(Practical Examination Scheme) 

ljifo  k"0ff{Í ljifoj:t' lz{ifs cÍ ;do 

;"rgf k|ljlw ;Lk k/LIf0f 

(IT Skill Test) 
!) 

Devanagari Typing @=% cÍ % ldg]6 

English Typing @=% cÍ % ldg]6 

Word processing @ cÍ 

!) ldg]6 

Electronic Spreadsheet  ! cÍ 

Presentation System ! cÍ 

Windows basic,  Email and Internet ! cÍ 

hDdf !)cÍ @) ldg]6 

Contents 

1. Windows basic, Email and Internet 

 Introduction to Graphical User Interface 

 Use & Update of Antivirus 

 Concept of virus, worm, spam etc. 

 Starting and shutting down Windows 

 Basic Windows elements - Desktop, Taskbar, My Computer, Recycle Bin, etc. 

 Concept of file, folder, menu, toolbar 

 Searching files and folders 

 Internet browsing & searching the content in the web 

 Creating Email ID, Using email and mail client tools 

 Basic Network troubleshooting (checking network & internet connectivity) 

2. Word processing 

 Creating, saving and opening documents 

 Typing in Devanagari and English  

 Copying, Moving, Deleting and Formatting Text  

 Paragraph formatting (alignment, indentation, spacing etc.) 

 Creating lists with Bullets and Numbering 

 Creating and Manipulating Tables 

 Borders and Shading 

 Creating Newspaper Style Documents Using Column 

 Security Techniques of Document 

 Inserting header, footer, page number,Graphics, Pictures, Symbols 

 Page setting, previewing and printing of documents 

 Mail merge 

3. Presentation System 

 Introduction to presentation application 

 Creating, Opening & Saving Slides 

 Formatting Slides, Slide design, Inserting header & footer 

 Slide Show 

 Animation 

 Inserting Built-in picture, Picture, Table, Chart, Graphs, and Organization Chart etc. 
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4.  Electronic Spreadsheet 

 Organization of Electronic Spreadsheet applications (Cells, Rows, Columns, 

Worksheet, Workbook and Workspace) 

 Creating, Opening and Saving Work Book 

 Editing, Copying, Moving, Deleting Cell Contents 

 Formatting Cells (Font, Border, Pattern, Alignment, Number , Protection, Margins and 

text wrap) 

 Formatting Rows, Column and Sheets 

 Using Formula with Relative and Absolute Cell Reference 

 Using Basic Functions (IF, SUM, MAX, MIN, AVERAGE etc) 

 Sorting and Filtering Data 

 Inserting Header and Footer 

 Page Setting, Previewing and Printing 

----- 
k|of]ufTds ;"rgf k|ljlw ;Lk k/LIf0fsf gd'gf k|Zgx? 

(Sample questions of Information Technology Skill Test) 
 

1. tn lbOPsf] b]jgfu/L] TextnfO{ cfwf/ dfgL 6fOk ug{'xf];\ .   [2.5 cÍ]  -5 ldg]6_ 

-sDtLdf 150 zAbx? ePsf] b]jgfu/L] TextlbOg]5 ._ 

2. tn lbOPsf] c+u]|hL TextnfO{ cfwf/ dfgL 6fOk ug{'xf];\ .    [2.5 cÍ]  -5 ldg]6_ 

-sDtLdf 200 zAbx? ePsf] c+u]|hL TextlbOg]5 ._ 

-k|Zg g+= #, $, % / ^ sf nflu hDdf      10 ldg]6_ 

3. Perform the following in Word Processing:   [0.54= 2cÍ ]   

a. Copy and paste the English text typed in question no. 2 in a new document. 

b. Insert a table with 3 columns and 5 rows below the text. 

c. Insert a picture. 

d. Apply Page Border and save it. 

 

4. Prepare a presentation for the following information. [0.52 =1 cÍ]  

(PSC: Independent Constitutional Body,  

Established: 15 June 1951, 

Functions: selecting meritorious candidates for civil service) 

 

5. Prepare the worksheet as below and insert suitable formula to calculate average salary.  

        [0.52 =1 cÍ]  

S. No. Name Post Salary 

1 X JS 32,000.00  

2 Y US    27,500.00  

3 Z SO 24,500.00  

Average Salary: 

  

6. Perform the following:      [1 cÍ]   

Set www.psc.gov.np as home page in your internet browser. 
b|i6Jo M 

 Word Processing, Presentation system, Electronic Spreadsheet/ Windows basic, Email and 

Internet cGtu{tsf feature x? ;dfj]z ePsf !) ldg]6df ;lsg] k|Zgx? ;f]lwg]5 . 

http://www.psc.gov.np/


                                e/tk'/ vfg]kfgL Joj:yfkg jf]8{, e/tk'/, lrtjg
ck|fljlws tkm{ 5}7f}+ txsf n]vf clws[t -k|zf;g ;]jf, n]vf ;d"x_ kbx?sf]  k|ltof]lutfTds k/LIffsf] nflu kf7\oqmd  

Page 18 

c+u|]hL jf b]jgfu/L Typing Skill Testsf] nflu lgb]{zgM– 

1=  b]jgfu/L Typing Skill Test sf] nflu !%) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s k|bfg 

ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 % eGbf sdz'4 zAb k|lt ldg]6 afkt ) c+s 

 % jf ;f]eGbf a9L / &=% eGbf sdz'4 zAb k|lt ldg]6 afkt )=%) c+s 

 &=% jf ;f]eGbf a9L / !)eGbf sdz'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !)jf ;f]eGbf a9L / !@=% eGbf sdz'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !@=% jf ;f]eGbf a9L / !% eGbf sdz'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !% jf ;f]eGbf a9L / !&=% eGbf sdz'4 zAb k|lt ldg]6 afkt !=%) c+s 

 !&=% jf ;f]eGbf a9L / @) eGbf sdz'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @) jf ;f]eGbf a9L / @@=% eGbf sdz'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @@=% jf ;f]eGbf a9L / @% eGbf sdz'4 zAb k|lt ldg]6 afkt @=@% c+s 

 @% jf ;f]eGbf a9Lz'4 zAb k|lt ldg]6 afkt @=%) c+s 

 

2. English Typing Skill Test sf] nflu @)) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s k|bfg 

ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 ^ eGbf sdz'4 zAb k|lt ldg]6 afkt ) c+s 

 ^ jf ;f]eGbf a9L / ( eGbf sdz'4 zAb k|lt ldg]6 afkt )=%) c+s 

 ( jf ;f]eGbf a9L / !@ eGbf sdz'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !@ jf ;f]eGbf a9L / !% eGbf sdz'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !% jf ;f]eGbf a9L / !* eGbf sdz'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !* jf ;f]eGbf a9L / @! eGbf sdz'4 zAb k|lt ldg]6 afkt !=%) c+s 

 @! jf ;f]eGbf a9L / @$ eGbf sdz'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @$ jf ;f]eGbf a9L / @& eGbf sdz'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @& jf ;f]eGbf a9L / #) eGbf sdz'4 zAb k|lt ldg]6 afkt @=@% c+s 

 #) jf ;f]eGbf a9Lz'4 zAb k|lt ldg]6 afkt @=%) c+s 

3. c+u|]hL jf b]jgfu/L Typing df lbOPsf] Text nfO{ cfwf/ dfgL 6fOk u/]sf] Text;Fu le8fO{ r]s ul/g]5 . 

lbOPsf] c+u|]hL jf b]jgfu/L Textdf pNn]lvt :yfg adf]lhd k/LIffyL{x?n] cfkm\gf] Textdf 

Punctuation6fOk gu/]sf] kfOPdf To;sf] zAbdf u0fgf ul/g] 5}g . tTkZrft lgDg Formula  k|of]u 

u/L z'4 zAb k|lt ldg]6(Correct words/minute) lgsflng]5 .  

 Formula: 

 z'4 zAb k|lt ldg]6(Correct words/minute) =
(Total words typed − Wrong words)

5
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